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Al 21,404




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 61,153 0 61,153
= 30,576
< 9,173
Al 21,404
01 It 2 AL B X 61,153 0 61,153
OLgAE JIsES 61,153
—EEHASHIIESAIE 23,553,000 * 14! 23,553
= 11,776
< 3,533
Al 8,244
-HlEoH 22,000,000& =14 22,000
= 11,000
< 3,300
Al 7,700
229 15,600,000& 14! 15,600
= 7,800
< 2,340
Al 5,460
HOH =KX 2,227,203 2,187,895 39,308
= 154,726
< 269,465
Al 1,803,012
DNSAMD AGgHdH 22 2 0ISXEAY(EX) 56,000 58,000 A2,000
< 9,500
Al 46,500
307 glz2tol & 56,000 58,000 A 2,000
< 9,500
Al 46,500
11T M SXAISE EX 56,000 58,000 A 2,000
OusS At TIoH A+ & S ALY 56,000,000 56,000
< 9,500
Al 46,500
ZOH= XX 1,161,355 1,238,535 ATT7,180
101 14l 38,800 38,800 0
4 JI2ZtHZ22HEE =+ 38,800 38,800 0
OFME SsSXA M (odiel &E) 38,800
-4 | 200,000& »20H «9 & 36,000
-2 & 203l 140,000& »20H 2,800
201 Let24d| 126,235 225,075 298,840
01 At 22l 124,280 224,020 A 99,740
O1.det=2H| 6,600
“Zfe =Xy det=ZH| 1,800, 000& 1,800
-Z0He X=X EXE 2
2,000& *1,000H 2,000




A LolEoe =X ot
H: HHOIEXNZST(AMIEX/HLHSAH)
Ee: HHU=EXNXNE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
~HOOIF=XES L HOOIMAMS =8 BHE
U ES; 900,000 900
~HOHOIEHA S 25 AN EEIN OME
30,000 3074 900
“ZOHQIEHOIAAE AMEEH EE BHES H&
1,000,000& 1,000
03.2g89s4% 6,720
SEHENY MojTY HALY
70,000 x7H x123] 5,880
SHOHOIA MOH BALY
70,000 «6H «23] 840
O5.2&4| 3,360
“HOHQIYRET OFA2LT S A
7,000 x4H x10L 128 3,360
O6. 4 Xtz 107,600
“HOHOISH AFRA M2 57,600
A2 SOLEOCIE 3
1,300,000 204 A~ «12& 31,200
INESESRRUR=E=1] 700,000 x 10 A %12 8,400
CIHHEZOHRIE S 700,000 100 A x128 8,400
AHIEOR R S 3 500,000 x 10 A~ x12& 6,000
IR R 300,000 1o &~ +12& 3,600
-HE5IE3 AMRA AXNESS
50,000,000 50,000
02 2% H| 1,955 1,055 900
O1.2Z222YHA 1,955
-&0He MEF=X FEUEHE DAASE S
E= 1,955
i bt 3002 *x350= +12& 1,260
=l 1,930 x30=E+128 695
202 04| 4,320 2,160 2,160
01 2Ll 4,320 2,160 2,160
OHOMA=R LR2F=&0H|
60,000 x4 H «32 63| 4,320
301 LBt A= 24,600 23,100 1,500
09 SHAIAHI E A2 13,800 12,300 1,500
O Hojele g J1ga &It |
60,000& x40 2,400
Q& X HEOIS Y JIEMA EHIHN I
60,000& x20H 1,200
OFOMe =2 2 & JsHIIHa I
60,000 x20% x4 4,800
ONMES2HEM0 0l2tEWHa &I I
60,000& *35H 2,100
OO Y AdMHg & HESN= ZIH)
gl 60,000 x5 H 300

_15_




AN 0= X0t
HF: HOL=EXNSE(AMISA/FHLHSKE)
el ZOoHI =X X (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OIS L& - SAX &3 &I
60,0003 *25% *23] 3,000
11IIEEAS 10,800 10,800 0
OO EOAIE AMBARI AHIEY
40,0003 *3¥ 903 10,800
307 eIzl & 911,400 909,400 2,000
03 BIAHMNHE2IHIEE 215,000 230,000 A 15,000
OZMLI=RIEHAl 2EHI 30,000, 000 *2CH 60,000
OXNHZEOMA=SXES HE2Y
500,000 «1CH =123 6,000
OAMEOMHRES XNEtSY
500,000& «1CH+122 6,000
Os0telgs g 500,000& =2CH=12& 12,000
OBZZM L2450 =9
17,500,000 *2H A 35,000
OFMHFAHEEH 29 42,000,000 * 101 & 42,000
OZOHeIE AMRA 2Zdl
500,000& *90H A =128 54,000
11 AISI S XA E X 696,400 679,400 17,000
OAZZoHe HEXtwa 11,000, 000& 11,000
OAZ & BREHWA 11,000, 000& 11,000
OAZZ0He SSwa 3,000, 000& 3,000
OAIZZoHel =olol & 2 LoALSEUE
4,500,000 4,500
OAIZZHR AATHEMOILE & THESAHS
7,500,000 7,500
OL/EHTHQ THELR 2 & HEns
3,000,000& 3,000
O8I SENE & 23
3,000,000& 3,000
OXNHFY HYXS &2 T2 I ' TS|
5,000,000 5,000
OXNFZHQ MEHT "SHot= Ma"
3,500,000& 3,500
Ofao seHial 2,000,000& 2,000
O3 A0 At W= 3,500,000& 3,500
OZEA =3tol=H 4,000,000 4,000
OXMZoHe ZINHEU= 6,500,000 6,500
OXHMZEOMHL FHEZE 4,400,000 4,400
O&= XMEOMC M=U3 1,500, 000& 1,500
OHOMITHESAHE YL SH &K
3,000,000& 3,000
Oflzz g3 WsSADE0D 2203 & &
I o1 2,500,000& 2,500
OXedZY =339 & 3,000,000 3,000




A LolEoe =X ot
M DONQU=NET(ASIZST/HAANESTH)
Ee: HHU=EXNXNE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAHZEOC MHIIME & Lisstote
3,000,000& 3,000
OHMb53 MHMAEOMC dtHEHS L AHAME
mE=1 2,000,000 2,000
OXEOfstM of2t40l 24 18,000,000& *23] 36,000
OFOHQIO Y J1Y L o2 (AISHRASH AL
22,500,000& 22,500
OZ2HALCHS)| &AM E M2
10,000, 000 63| 60,000
OXHMZAOHC! AlS S = 15,000,000& 15,000
OZoHQl L XtelAre (2l A4 Hl)
300,000 160 x7<& 336,000
ONsEEHMR NMeEAHALE &H 40,000,000 40,000
OFLEHHC L IIE S =35 0na 24
15,000,000 15,000
OAZMe HADNES(EIHE 2F) 24
15,000,000 15,000
OHdEZSHMO BMIEA 29
40,000,000 40,000
OXHMAUANSEMNH S&E2IHdH 29
30,000,000 30,000
402 212t X 20| & 56,000 40,000 16,000
01 QA XSAIE E =X 56,000 40,000 16,000
OXMAUS KAl X2 40,000,000 =1CH 40,000
OAAXHIZEEEH WA HHBY
3,200,000& *5CH 16,000
THZHA BN LN RS (BE) 102,000 99,000 3,000
= 17,000
Al 85,000
307 212t0| & 102,000 99,000 3,000
o 17,000
Al 85,000
11 A EXAIEEX 102,000 99,000 3,000
OXHMAEOHHEHYAIEHME 2H 102,000,000 102,000
& 17,000
Al 85,000
AMZEO 0 StSXKAME 29 (EX) 188,720 188,720 0
& 56,616
Al 132,104
307 2iz2to| A 188,720 188,720 0
& 56,616
Al 132,104
11T AISIEXAIEEX 188,720 188,720 0
OAZEMESXAMMEHRH 188,720,000 188,720
o= 56,616
Al 132,104




2N
X ZH -
L= B

el

I EO QI S Xt
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

N

Ja

ZOHARNAUHBE(EX)

0
H0

= M

106,672

21,336
85,336

,672

307 21201 &

= M

106,672

21,336
85,336

,672

A S XA E X

OXEFEMHAXNIAMNE 2

106,672,000

t

Al

106,672
106,672

21,336
85,336

672

FOHQIIS At 22l AL (B X)

H

Al

50,400

26,100
24,300

38,

500

11,900

307 glztol &

= M

50,400

26,100
24,300

38,

500

11,900

1A SXAIE E =

OZOHAIIS At 22l Ar Y

50,400,000

= M

50,400

50,400

26,100
24,300

38,

500

11,900

ZOHIIEXALMHR2E (EX)

H

Al

181,000

90,500
90,500

,000

307 21201 &

H

Al

181,000
90,500
90,500

,000

1A SXAIE 2 =

OHMIIEXNEMEH=ZE

181,000,000

Al

181,000

181,000

90,500
90,500

,000

bal

XH Ot ZF O

0
e
oY
30
[nl
o
M
H
10
(=]
H0
02

HT
FA

H

Al

25,580

6,400
19,180

26,

620

A 1,040

307 21201 A

H

Al

25,580

6,400
19,180

26,

620

A 1,040

N A=SAMEEE
ol

O HOHZ OH

ZRE Y20

= M

25,580

25,580

6,400
19,180

26,

620

A 1,040

= MW

186,628
149,302
11,198
26,128

,848

780

307 21201 A

186,628

,848

780




A LolEoe =X ot
H: HHOIEXNZST(AMIEX/HLHSAH)
Ee: HHU=EXNXNE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 149,302
= 11,198
Al 26,128
11T A EXAIEEX 186,628 185,848 780
OAZFEOH QI CHOFAFIIFA AFE 186,628,000 186,628
= 149,302
& 11,198
Al 26,128
ANAHEHAIHAEANEXNREHEHR2A 40,000 50,000 A 10,000
307 212t0| & 40,000 50,000 A 10,000
11 A EXAIEEX 40,000 50,000 A 10,000
OXMEHLHYE NHANJLMEHSH
40,000,000 40,000
CIBEHAR M L OISHMAH 2H(EX) 13,100 15,000 A 1,900
o= 3,930
Al 9,170
307 2I2t0| & 13,100 15,000 A 1,900
& 3,930
Al 9,170
11 A EXAIEE X 13,100 15,000 A 1,900
OLEH IO XA U OISKAME 2Y
X& 13,100,000& 13,100
o= 3,930
Al 9,170
U INESS AN (EXR) 7,748 0 7,748
2 5,424
=} 697
Al 1,627
307 2I2t0| ™ 7,748 0 7,748
2 5,424
= 697
Al 1,627
11 A EXAIEEX 7,748 0 7,748
Oggaojel JIIEsAXA 7,748,000 7,748
=2 5,424
& 697
Al 1,627
ZIOHQICI A S S IRKAAMSHMEH(EX) 80,000 0 80,000
= 17,788
Al 62,212
307 2Iz2to| A 80,000 0 80,000
= 17,788
Al 62,212
11T A EXAIEEX 80,000 0 80,000
O&eIoHEE QA SHHE 80,000,000 80,000
= 17,788




2N
X ZH -
L= B

el

ot
(ABISX/HAANEXH)

04 07 H
20

o 0
=
Mo

22
o

>0 i
Mo

r

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Al

62,212

>
0
2
o
=
]
0
it
>
20
02
T
P

H

Al

28,000

8,400
19,600

,000

307 21201 &

2l

Al

28,000

8,400
19,600

28,

000

A SR A E =

OUMEM MHeadEaEI 28,000,000

= N

28,000
28,000

8,400
19,600

28,

000

=z M H

18,418,687
12,501,652
1,576,864
4,340,171

16,407,072

2,011

,615

ZOHOtSTHERNZ(EX)

=z N H

1,039,226
727,458
93,530
218,238

1,018,594

20,

632

307 glztol &

= MW

1,039,226
727,458
93,530
218,238

1,018,594

20,

632

1A SXAIE E =

OZOoISHEX =

1,039,226,000&

= M W

1,039,226
1,039,226

727,458
93,530
218,238

1,018,594

20,

632

= M W

9,308
4,654
1,396
3,258

8,953

355

= N W

9,308
4,654
1,396
3,258

8,953

355

OHMSSEAMZ2S 9,308,000&

=z N H

9,308
9,308

4,654
1,396
3,258

8,953

355

= H W

30,858
15,429

4,629
10,800

34,200

A3,

342

H

30,858
15,429

34,200

A3

,342

_20_




2N
X ZH -
L= B

el

b
A

o ox
(==
M = re

-~ B

EEVEESTESED
2 CER-ED

0% 0% H
2=210°
e oM Jit

0% A A

22
°

r

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

< 4,629
Al 10,800

e
a
[‘\J
]
r
>
9
Ho
B

30,858 34,200 AN 3,342
HEALS 30,858,000& 30,858

156,429
4,629
10,800

O
OF
=)
i
021
2
e
I
Je

= M W

021

Off 1 XL SHH| KT & (

HL
FA

6,787 7,141 A 354
5,429
408
950

= N W

301 et d = 6,787 7,141 A 354
5,429
408
950

= W

01 Al 28X =0dl= 6,787 7,141 A 354
OZ O Rt &HHI I & 6,787,000& 6,787
5,429

408
950

= MW

S8 MASEOHY 2TSHXRE(EX) 18,103 21,671 23,568
5,431
12,672

= M

301 fELE A= 18,103 21,671 A 3,568

5,431
Al 12,672

H

01 AR 2&H 6= 18,103 21,671 A 3,568
A

18,103,000& 18,103

5,431
12,672

=

ZOHAEXIIFRE(ER) 10,759 12,146 N 1,387
8,173

614
1,972

= M W

301 gEtE A= 10,759 12,146 A1,387
8,173

614
1,972

= MW

= 10,759 12,146 A 1,387
Tu L 10,759,000& 10,759

8,173
614
1,972

Z W

FH=+EXEOIE)NER) 1,338,204 1,073,863 264,341

= 831,743
= 106,938




2N
X ZH -
L= B

el

02 021 H-
2201
o

b
A

o oM
0z
M X o

2 oM i
N

0% A >

t3
2|

r

[SX/HAAHNSKH)

SN FH-SA(EN) - MBAY - BES

=
i

2

399,523

= MW

,338,204

831,743
106,938
399,523

1,073,863

264,341

1,338,204,000&

= N H

,338,204
,338,204

831,743
106,938
399,523

1,073,863

264,341

g
i
00
!
40
S
0
40
T
A

= N H

,052,965

737,075
94,767
221,123

914,330

138,635

= N H

,052,965

737,075
94,767
221,123

914,330

138,635

1,052,965,000&

= N H

,052,965
,052,965

737,075
94,767
221,123

914,330

138,635

03
2
o
10
]l
==
pa]
o
HT
P

= Hn

234,913

187,930
14,095
32,888

254,854

A 19,941

= M W

234,913
187,930

14,095
32,888

254,854

A19,941

234,913,000&

= N W

234,913
234,913

187,930
14,095
32,888

254,854

A 19,941

= N W

408,095
204,048

61,214
142,833

383,922

24,173

307 glztol &

=z N H

408,095
204,048

61,214
142,833

383,922

24,173

1A SXAIE 2 =

OZOHI =X L Xtel Ak

408,095,000

408,095

408,095
204,048

383,922

24,173

- 22 -




AN 0= X0t
HH: HUHASXSA(AZSX/HAAHNSKH)
el mOjOIMEBOIET B CER-ED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 61,214
Al 142,833
Zopoldersd ARl AG (B E) 761,346 748,176 13,170
= 380,673
=) 114,202
Al 266,471
101 @124 Hl 761,346 748,176 13,170
= 380,673
=) 114,202
Al 266,471
4122 2RSS ES 761,346 748,176 13,170
OOyt AT N AAY Q1248 & 20
2l 761,346,000 761,346
= 380,673
< 114,202
Al 266,471
ZOHLESXI(HIY)(EX) 4,853,320 4,063,868 789,452
= 3,397,324
< 436,799
Al 1,019,197
307 glz2+ol & 4,853,320 4,063,868 789,452
= 3,397,324
< 436,799
Al 1,019,197
11T MISRASEX 4,853,320 4,063,868 789,452
OXMIESKA(EILRY) 4,853,320,000& 4,853,320
= 3,397,324
< 436,799
Al 1,019,197
ZHAI X2 (EX) 8,504,190 7,701,043 803, 147
= 5,952,933
= 612,302
Al 1,938,955
301 et a =z 8,504,190 7,701,043 803, 147
= 5,952,933
< 612,302
Al 1,938,955
01 AR 2Z A 53 8,504,190 7,701,043 803, 147
O HA=X A 8,504, 190,000& 8,504,190
= 5,952,933
< 612,302
Al 1,938,955
ANEAEHM 22X HdHEGXNA(EX) 19,233 19,267 N34
= 13,467
= 1,720
Al 4,046
307 glz2tol & 19,233 19,267 N34

_23_




2N
X ZH -
L= B

el

b
A

o ox
(==
M = re

-~ B

[SX/HAAHNSKH)

0% 0% H
2=210°
e oM Jit

0% A A

t3
2|

22
°

r

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

= Hn W

13,467
1,720
4,046

1A SXAIE E =

OANE2Z 22X4H

=

AHZEXNHA

19,233,000&

=z N H

19,233

19,233
13,467
1,720
4,046

19,267

N34

0%
2
e
i

sE2

P

MHIAX & (2X)

82,000

24,600
57,400

102,415

N20,415

307 glztol &

H

Al

82,000
24,600
57,400

102,415

N20,415

82,000,000

= M

82,000
82,000

24,600
57,400

102,415

N20,415

Z W

15,000
10,500
1,350
3,150

6,000

9,000

307 gl2tol ™

= N H

156,000
10,500
1,350
3,150

6,000

9,000

M ARISIMNEE
(¢]

_l_}_
ONLEHMAESLEIEX AL

15,000, 000&

= N H

15,000
15,000

10,500
1,350
3,150

6,000

9,000

= N

7,500
6,000

450
1,050

9,246

N1,746

307 21201 &

= N W

7,500
6,000

450
1,050

9,246

AN 1,746

ARSI S XA E =
o

O2EHM dH=AMHAXE

O
ng
o
03
2
o
0x
M
{on
o)
0>
=]
1]

2
&

el Z Xl
1

6,000,000&

,500,000&

= N W

H

7,500

6,000

4,800
360
840

1,500
1,200

9,246

A 1,746
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AN 0= X0t
FH: ZASNSI(MSISX/HLHEXH)
el mOjOIMEBOIET B CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 90
Al 210
ZOHOISE2 MM (EX) 26,880 27,383 A 503
= 18,816
< 2,419
Al 5,645
307 glz2tol & 26,880 27,383 A 503
= 18,816
= 2,419
Al 5,645
11T MISRASER 26,880 27,383 A 503
O&lols F2acl4E XA 26,880,000 26,880
= 18,816
< 2,419
Al 5,645
ZOHIAIE X & 15,219,214 13,372,610 1,846,604
= 5,055,326
< 2,210,847
Al 7,953,041
ZOHCIAI X & 221,560 224,320 A2,760
201 et 5,520 7,520 A 2,000
01 At 22l 5,520 7,520 A 2,000
O1.det=2H| 3,000
—ZOHIAIE Y R LBt H| 3,000, 000& 3,000
O5.=2 &l 2,520
“HOMHAANEGRFE OF2A2RXN =4
7,000 «3& 102 «12& 2,520
202 o4l 3,240 3,240 0
01 = LH 4 HI 3,240 3,240 0
OZOMAAE HR=A0H|
60,0003 *3EH +x32 +63] 3,240
301 et A3z 12,800 17,460 A 4,660
01 MI28E+06l= 12,800 17,460 A 4,660
OZOMHA=XAIS 22 (0tel ot & 2l 18IHA)
20,0003 *320H »23| 12,800
307 21201 A 190,000 186, 100 3,900
10 ALSISXAIEEER2IHEX 42,000 53,100 A 11,100
OZOHQ MEAIL 2HHI(HAAIE)
1,250,000 »2)f A~ *12& 30,000
OFHl MEAL SEHLEH XA
1,500,000 *8IH A 12,000
11T AR S XA E =X 148,000 133,000 15,000
OMASHEMC = HIESAE 0182 X
50,000 x70H « 12 42,000

_25_




2N
X ZH -
L= B

el

ol OH el = Xt
ZHA=SXNSE(AMI=SX/HAAHNENE)
ZOHIAIE XA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHMA=IAE 215 0IEX X&
3,000, 000& 3,000
OHe dE=E 2 70,000,000 «14 2 70,000
OFel Ols=2=2xd 22 16,500,000 «2CH 33,000
401 A& HIZ 201 I 10,000 10,000 0
01 A& HI 10,000 10,000 0
OZSEA ZOMHABAAL &5
10,000, 000& 14! 10,000
ZOHCI=SXIAIE BAXG =2(EX) 574,279 537,600 36,679
< 114,855
Al 459,424
307 glz2tol & 574,279 537,600 36,679
< 114,855
Al 459,424
10 AL SXNAIEEE2EH EX 574,279 537,600 36,679
OFMLA=RAE SAX==E 574,279,000 574,279
< 114,855
Al 459,424
ZONQIMEASL MASZOH(EX) 500,000 0 500,000
= 450,000
< 17,500
Al 32,500
301 et a = 500,000 0 500,000
= 450,000
< 17,500
Al 32,500
01 MEIBZE 2053 500,000 0 500,000
OZOMAMEAE I =2 HAHSOH
500,000, 000& 500,000
= 450,000
< 17,500
Al 32,500
ZOoIMEASY 2H(EX) 6,579,038 6,505, 128 73,910
= 4,605,326
< 592,113
Al 1,381,599
307 glz2tol & 6,579,038 6,505,128 73,910
= 4,605,326
< 592,113
Al 1,381,599
10 ALSISXAIEEE2EHEX 6,579,038 6,505, 128 73,910
OHMHAMEANE2Y 6,579,038,000& 6,579,038
= 4,605,326
< 592,113
Al 1,381,599
TN F=AER2L(EX) 140,400 0 140,400
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A LolEoe =X ot
M DONQU=NET(ASIZST/HAANESTH)
Eel: HOHUAIE X (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 28,080
Al 112,320
307 gizto| A 140,400 0 140,400
< 28,080
Al 112,320
10 MM SAANEEHESIGHEX 140,400 0 140,400
OFMNANFAIL2Y(HO!)  140,400,000% 140,400
< 28,080
Al 112,320
HOHQIHFAILOIENAR DG (BE) 4,000 0 4,000
= 1,200
Al 2,800
307 212t0| & 4,000 0 4,000
< 1,200
Al 2,800
11 A EXAIEEX 4,000 0 4,000
OFMAAF=AEOSAOAHD= 4,000,000 4,000
& 1,200
Al 2,800
HOHQUMEALALATR(RE) 30,680 30,680 0
< 9,204
Al 21,476
307 2iz2to| A 30,680 30,680 0
& 9,204
Al 21,476
11T A EXAIEEX 30,680 30,680 0
OZ ORI MEAIAE HEI A XS 30,680,000 30,680
o=t 9,204
Al 21,476
OIS DI HFAIE 2RI (EX) 461,191 350,000 111,191
= 92,238
Al 368,953
307 QI2t0| ™ 461,191 350,000 111,191
< 92,238
Al 368,953
10 A SXNANEEHESIGHEX 461,191 350,000 111,191
OXMHAHIIESANESA 461,191,000 461,191
< 92,238
Al 368,953
I ZSMEDIESH(EX) 376,891 400,000 A 23,109
= 75,378
Al 301,513
307 2Iz2t0| & 376,891 400,000 A 23,109
= 75,378
Al 301,513
10 M SXAEEHESIGHEX 376,891 400,000 A 23,109
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A LolEoe =X ot
M DONQU=NET(ASIZST/HAANESTH)
Eel: HOHUAIE X (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SELEEEFESEET 376,891,000 376,891
< 75,378
Al 301,513
HOQIFEAEEAE 2 (LX) 686,000 559,959 126,041
= 137,200
Al 548,800
307 QI2t0| & 686,000 559,959 126,041
=} 137,200
Al 548,800
10 Al EXNANEEHE2IGHEX 686,000 559,959 126,041
OZAF2UAESAIESA 686,000,000& 686,000
< 137,200
Al 548,800
LSIEAMEH 29 (EX) 221,210 173,520 47,690
< 37,606
Al 183,604
307 2Iz2t0| A 221,210 173,520 47,690
& 37,606
Al 183,604
10 MM SAANEEHESIGHEX 221,210 173,520 47,690
Oxsts9HdH2Y 221,210,000& 221,210
=} 37,606
Al 183,604
SO ESSAYQRIASB =T (BEX) 29,831 29,831 0
& 8,949
Al 20,882
307 QI2t0| ™ 29,831 29,831 0
& 8,949
Al 20,882
10 MM SAANEEHESIGHEX 29,831 29,831 0
OsOltlszaEAESIA 29,831,000& 29,831
= 8,949
Al 20,882
ZETONO NYNAHE 2B (2F) 156,825 156,826 A
< 31,365
Al 125,460
307 212t0| & 156,825 156,826 |
o=} 31,365
Al 125,460
10 M SXNANEEHESIHEX 156,825 156,826 A1
OZSHHAUXNHANRAE 2 156,825,000 156,825
& 31,365
Al 125,460
ZOHCIAMEEMYH 2IY(EX) 355,341 344,618 10,723
& 71,070
Al 284,271
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AN 0= X0t
M DONQU=NET(ASIZST/HAANESTH)
S HOHAAEX A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 355,341 344,618 10,723
< 71,070
Al 284,271
10 ALSISXAIEHE2EH EX 355,341 344,618 10,723
OFMHOAARSMEHSY 355,341,0002 355,341
= 71,070
Al 284,271
FEENEAZ 2H(EX) 283,333 283,333 0
< 85,000
Al 198,333
307 21201 A 283,333 283,333 0
< 85,000
Al 198,333
10 ALSISXAIEEE2IHEX 283,333 283,333 0
OZ=BNEN22Y 283,333,000& 283,333
< 85,000
Al 198,333
ZOAEATHEANE 2H(EX) 1,683,826 1,525,991 157,835
< 248,520
Al 1,435,306
307 212+0| 1,683,826 1,525,991 157,835
< 248,520
Al 1,435,306
10 AL SXAIEEHE2EH EX 1,683,826 1,525,991 157,835
OFMHAEATHEANE 2L 1,683,826,000& 1,683,826
< 248,520
Al 1,435,306
I SEESSAMLRNEA(BE) 35,000 35,000 0
< 8,750
Al 26,250
307 glz2tol & 35,000 35,000 0
< 8,750
Al 26,250
10 ALSISXAIEEE2EHEX 35,000 35,000 0
OHMHASE2SAIS XS 35,000,000& 35,000
< 8,750
Al 26,250
iR TIOHSXSAME 2F(Ex) 104,095 100,090 4,005
< 20,819
Al 83,276
307 2I2+0 & 104,095 100,090 4,005
< 20,819
Al 83,276
10 M SXNANEEHE2IHEX 104,095 100,090 4,005
OHOMITHI=EXNSAHEH2 S 104,095, 000& 104,095
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L= B

el

01 04 H

o1 & 01 o1 = X ot
HA=SXSA (A SX/HAHNEXH)
OHIAIE X &
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= M
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000

10 A SAAEHE2SHIEX

50,000,000

= M

50,

50,

7,
42,

000

000

500
500

50,

000

= M

1,860,

17,
1,842,

000

500
500

930,

000

930,000

307 21201 &

= M

1,860,

17,
1,842,

000

500
500

930,

000

930,000

930,000,000&

O
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0o
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H
i
0
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o
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© 02

30,000,000

H

Al

f
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930,
8,
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000
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000
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930,

000
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H
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865
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259
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,000
ar

840,

000
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307 glztol &

H

Al

865

606
259

714

,000
ar

840,

000

25,714

865,714,000&

n

Al

865

714
865,

606,
259,
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000
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840,

000

25,714

0

77,

505

70,

7,114

24,

045

22,

1,430

24,

045

22,

1,430

24,

045

22,

1,430

SEES RS
29 el

40,4202 %1% 2612

10,550, 0002 1% %1/ 12+400%

24,
24,
10,

3,
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22,

1,430
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